N = 0l & At & M A

20178 = =0l &k LS H w3

2AM: XA
IM: £ ESDS NE 23
ool DELHIA CER-ED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
w =Xl Dt 12,800,967 13,130,207 A 329,240
= 50,070
< 1,808,772
Al 10,947,125
.58 N 23 12,308,289 12,626,497 A 318,208
< 1,803,772
Al 10,504,517
NEYEXH 2,176,383 2,513,956 A 337,573
WEEZM 1,815,963 1,853,536 A 37,573
201 et 43,640 55,140 A 11,500
01 At 22l 26,140 10, 140 16,000
OB+t 24,600
— Xz e M4GgHHT JHE S EE B3t
E A 100, 000 *5JH A~ 43| 2,000
—XZXs HH3 Iz HE(MUMES)
18,000, 000& 14 18,000
—oEsty BEY Y- o0 7Y
5,000 *100H 42 2,000
— 24 ZYUM HEF(E-3-1-0) 2Y
5,000& 80 #23| 800
— sl Sasty AF 2o
5,000& 80 #23| 800
— QRN FAZH L UK P
5,000& 100 #23| 1,000
Oo2g+¢ 1,540
—DSYHIAN FHLY
70,000& 11 »23] 1,540
03 &Ar2 I 17,500 45,000 A 27,500
OUst=atS2iAIE 22l A
2,500,000 » 14 2,500
OFASHSctA U2 N 15,000
— ZHI= 700,000& x10& 7,000
— 22 &4l 8,000,000& »14! 8,000
202 O4Hl 12,648 6,768 5,880
01 S LHOIYI 12,648 6,768 5,880
OUSXIAY =& 22| Ol
210,800 x6Z x 102 12,648
203 YR =2t 3,600 3,600 0
03 Al =AY R =& 3,600 3,600 0
OLsESXIAMNY =& &= 4,000,000& *90% 3,600
301 et d = 14,200 2,200 12,000
09 SALAHIEA S 14,200 2,200 12,000
OeMsd Hetg MY 24Es
10,000& x60H »23| 1,200

- 470 -




2N

imi
g x.Zsu=E NE 28
imi

ool DELHIA (S5 &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZ2ZANUSLHEIHE(3X5E) 2012t
=3l o= 10,000 «50H *23| 1,000
QA2 B (LAME , 2AEFS)
12,000,000 = 1Al 12,000
306 23 440,866 390,500 50,366
01 52 440,866 390,500 50,366
OSTZEMUS EAS(IZH)
100,000,000 =13 100,000
oxs2 I 301,940
— S SASMOIMEY, StAMRT BA
Y SLBMIE, HASE THES
301,940,000 * 1Al 301,940
O &St 29 & 38,926,000 x 1Al 38,926
307 2iz2to| A 77,609 78,000 A 391
02 QI2tAAMAIE E =X 77,609 78,000 A 391
OuMsstnal 2HX S 10,000, 000& » 1Al 10,000
OMNSIZHY A2 EIAXNER &8s X
5,000,000 =14l 5,000
OSZUsEH AtY K& 5,109,000 =14l 5,109
Ox=Ssn CHAE(AMEWH) XA
20,000,000 x 14! 20,000
OZE=0H&ggots 29X 23,000,000& = 14! 23,000
O MIHH Ex2 XA 14,500
— ST NSAMEHEZ2Y 7,500,000 1Al 7,500
—SIRXFTINSSIN2IEAFAE S
4,000,000 « 1Al 4,000
—gtnsaets SEAKXNZ
3,000,000 =14l 3,000
308 NXICSHHMSOIA 1,223,400 1,317,328 93,928
08 I 20 HstE = 1,223,400 1,317,328 N 93,928
OXNSd 2281 sEsSdAY X 150,000
—sEEX TR0y 29 U DA N
150,000, 000& x 14! 150,000
O=EAN s #4843 =4 86,400
— XS SHMYWAM BIXI K&
2,700,000 3204 12 86,400
Oxs&n |02 HEXZWAF BIX X& 750,000
— XSSt (169H1w) 750,000,000 « 1Al 750,000
OELN=XMdH &4 X
15,000,000 =1 Al 15,000
Otz ELA 29 1 22,000,000& x 14! 22,000
OstngY pEZzZ)H 29 A
3,000,000 15 45,000
OZMEwa Ax XN (1IHw)
30,000,000& = 14! 30,000




2N

imi
g x.Zsu=E NE 28
imi

Sl DSUHH (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXEHD Jls™d &4 XA (4H)
50,000,000& =14l 50,000
OXKIIM Al M2HAHE XS
70,000,000& =14 70,000
OZUsEA oI 28 X
5,000,000& =14l 5,000
JOHMEOE 24 300,420 600,420 300,000
201 Let249] 420 420 0
01 At 22l 420 420 0
o2g+g 420
-~ SZYHHOIS 2SS FHLY
70,0003 x6H * 13 420
307 glz2tol & 300,000 600,000 A 300,000
05 RIZHRI &t 3 300,000 600,000 A 300,000
O=SZI0NE0S RI2E
300,000,000 x13] 300,000
FMHuNEd 22 60,000 60,000 0
308 XX EHSOIA 60,000 60,000 0
08 WSII20HetE = 60,000 60,000 0
O=szZdMusd 29 XF 60,000,000 *13] 60,000
stusa 29 XA 10,131,906 10,112,541 19,365
< 1,803,772
Al 8,328,134
stugaldl X 10,131,906 10,112,541 19,365
=) 1,803,772
Al 8,328,134
201 Let24E] 20,815 20,815 0
< 3,772
Al 17,043
01 At 22l 20,815 20,815 0
Ogt=&H| 13,175
— DA HBASLHES HHL A
12,575,000& 14 12,575
< 3,772
Al 8,803
— S DA XA ZANB AR T
20,0003 x 158 +23] 600
o2g+g 7,640
—snIANY MolslAs o +g
70,0003 11 »23] 1,540
S DIA JIARY MoV o+
70,000& * 78103 4,900
— SDIAXY HIYAE AWE BE, X
HEZE 0= 100,000& » 2«63l 1,200

- 472 -




2N

g =, = XN& 235t
S99 snZA 2Y X8 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 2,531 1,806 725
01 = LH 4 Hl 2,531 1,806 725
O =L HI 2,531
~SDZA TAR BE DUEY
210,800 »2H 23] 844
—SDIANY B GELE
210,800 »2H x43] 1,687
206 = Hl 5,600,000 5,600,000 0
< 1,800,000
Al 3,800,000
01 MHZ 4l 5,600,000 5,600,000 0
OsnZA FHFSHES A2 NV (X.5.2
S50 .2XF,00e01E)
5,600,000, 000& * 14 5,600,000
= 1,800,000
Al 3,800,000
308 MXIEHMSOIH 4,508,560 4,489,920 18,640
08 WSEII20HetE = 4,508,560 4,489,920 18,640
ODSsD HASES 24 SAH X2
2,900& *560H x 190 308,560
OR4ZAY XA (E. 531)
4,200,000,000& =14 4,200,000
HMSISHM 2= 414,052 434,972 220,920
= 50,070
Al 363,982
BMNS 414,052 434,972 220,920
= 50,070
Al 363,982
B8N s 88,480 88,384 96
201 Let24d] 81,920 81,920 0
01 At 22l 20,920 20,920 0
Ogt=&H| 19,800
—masg Zzaw e 4,000
FySE =W SDE M
8,000& x500% 4,000
— SEZAO0HO0l 23 22 =Y WA
500,000& x123] 6,000
~HIBYSSTA Sl
2,000,000& 13 2,000
—EMS ST SESHE
600& *5,000 23| 6,000
—BdstsdH SHO0IX =X 2=H|
150,000& = 12& 1,800
o2g+g 1,120

- 473 -




2AM: XA
M HMSSHM P
Helr BAEWN=S ool E )
SN FE - EA(SA) - MRAY - BES il Bl RE2
—E8usE03 28 +9
70,0003 x8H x23| 1,120
03 &A2H 61,000 61,000 0
oHstg =& 4 gy g2 4 2 ME
208 29 6,000,000 » 14! 6,000
OSEZAIZIOtO0 2 29
30,000,000& =14l 30,000
Omdsets =M Al 20,000,000 =14 20,000
OBMSE BHT NP2 29
5,000,000& 13 5,000
202 044l 2,530 2,708 A178
01 SLHOIYI 2,530 2,708 A178
OBMDE AT A (BYDSHER)
210,800 »2H 33| 1,265
Olfstgl= & gAstEsu e ot
210,800 »3H »23] 1,265
301 et &t 4,030 3,756 274
09 HALAMHI B A S 4,030 3,756 274
Olfstel =84 gtefsl sotel o K&
500,000 =34 & 1,500
oste= o mMstsuEs &I 20
g X 10,800& 23| 6 & 2,530
Hdsts 29 68,280 106,958 N 38,678
= 30,000
Al 38,280
201 Lt 31,100 68,250 A 37,150
= 7,386
Al 23,714
01 At 22l 11,100 11,250 A 150
Oogisstsdly T2 29|
1,000,000 *3H 2 3,000
= 1,986
Al 1,014
ogdi=stsdyd 28 +&  2,000,000& *3H £ 6,000
= 4,000
Al 2,000
Os=stsMH S22 2 B4 MR
700,000& *3J4 2 2,100
= 1,400
Al 700
03 A2 S HI 20,000 57,000 A 37,000
OAQAHE & 29 (201L)
5,000,000& x 14 5,000
OZIeg =208 22 15,000,000 * 14! 15,000
202 O4dl 2,530 2,708 A178
01 = LH o4 1l 2,530 2,708 A 178

- 474 -




2M: nEX
X EH I A B
L= B

cel: gy (eel:&d)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OBMes D218 29 92=4 o4
210,800& *4H +33| 2,530
301 et 8= 34,650 36,000 A 1,350
= 22,614
Al 12,036
NIJIEEd=s 34,650 36,000 A 1,350
Od=st50HLM &Sl
10,000 *42F*10Al 2t +3H 12,600
= 9,028
Al 3,572
Od=stsdy T2 2HAkHI
35,0003 #423=+5A| 2k *30H A 22,050
= 13,586
Al 8,464
FOUAMEY BMss D278 29 176,787 169, 105 7,682
201 £B-2dH| 99,200 96,900 2,300
01 At 22/l 92,300 92,300 0
O e8| 92,300
—FoAZY Z2O 2
334,420 «2301 I Ef » 12 92,300
02 2324l 6,900 4,600 2,300
OAIZ2&dl |XHl 6,900
—FOAYY T2 29 FHyl 22/l
300, 0003 2304 &l & 6,900
202 04 Hl 1,687 1,805 A118
01 = LH 4 Hi 1,687 1,805 A118
OFQANLZZNH2E ARFE o]
210,800& x4H +23| 1,687
301 e A3z 64,400 64,400 0
1MIIEELSS 64,400 64,400 0
OFoAgY Z20d8 249 55,200
— ZAt=E 25,000 «8 122 «23 4 &I & »85% 46,920
— X2 S A 2 Al
5,000 6 x 122 «2301 &I 8,280
OYsSAYT2IY 29
25,000 83| 234l & x23] 9,200
405 THetFSH 11,500 6,000 5,500
01 AL ESHSH 11,500 6,000 5,500
OFoANYY T278 2% YUSERY
500,000 »234 &l & 11,500
RN 2<% 80,505 70,525 9,980
= 20,070
Al 60,435
201 LBt 50,400 37,200 13,200

- 475 -




2N nEX D
B BMSSHN 7
Helr BAEWN=S (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 AFR2t2ltl 46,400 33,200 13,200
O e8| 46,400
—doEduE 2 46,400
ool sE nitd 2
6,000 x200H «3& 3,600
o2 =2 =25 24|
8,000& 200 #23| 3,200
Hol2sns AAsg
30,0003 «122l * 11JH W &« 1000 & 39,600
03 &ALZ2 I 4,000 4,000 0
OHolZoHHYE 29 4,000,000& 13 4,000
307 21240 & 30,105 33,325 ~3,220
= 20,070
Al 10,035
02 It HAMAEE 30,105 33,325 A 3,220
Odo2olus Z208 2I X
30,105,000 =14l 30,105
= 20,070
Al 10,035
HY2HAH (LS ) 78,626 68,738 9,888
Jl2ZH(nsX& ) 78,626 68,738 9,888
Jl2dul (LS X&) 78,626 68,738 9,888
201 ¢4l 51,836 32,924 18,912
01 AF2 22l bl 51,836 32,924 18,912
Oget=gHl 46,292
—JIZ2AMREEHI 100,000& 11 1,100
—SANEX P2 20,0003 202t A+ 123 4,800
— S Al =& 500,000 = 1CH*23] 1,000
—=SAI EU 150,000& = 1CH x53 750
—SAI EE 330,000& = 1CH+53] 1,650
—dold =g & 237,000 »4CH x53 4,740
— A2 &Y 110,000 =10 43l 440
—Jlg E28F 72 150,000 43 600
—INRD A2l 300,000& =128 3,600
— 20l 29x 160,000& 200 A+ 123 3,840
—EA SFAE SEFX 7Y
60,0003 * 10 A +123 7,200
—ZA SEAE HEEHS 7Y
50,0003 *10 A %123 6,000
—EA SEA SBHES P 10,572
28I MEM +2 9,500 200123 2,280
geH 2 8,000 x200 122 1,920
sHls +g 114,000 »32t A %63l 2,052

- 476 -




2N WX
M HM2HAH (WSX)
S JI2dY (WS XE) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
X, dASHEA HOE=S
60,000 6 12 4,320
O3&H| 5,544
— WX 2= E20AH]
7,000 x11H 6L x 128 5,544
202 044l 21,120 30, 144 N9,024
01 2L Y| 21,120 30, 144 N9,024
H2 =X 2L O B 20,0003 x 11 82 x12& 21,120
203 &2 =&XH| 5,670 5,670 0
01 JI22HYFFAH| 2,970 2,970 0
On=s X< 3,300,000& *90% 2,970
04 EASHEHIRFAH| 2,700 2,700 0
On=sX & 250,000& *12& *x90% 2,700

- 477 -




